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QUESTION 1

Two services need to exchange a business document that exists as an XML document. Each service\\'s contract uses a
different XML schema to represent the business document structure. This results in two different XML representations
for the same business data. Which of the following patterns can be used to enable the exchange of the business
document between these two services?

A. Data Format Transformation

B. Protocol Bridging

C. Atomic Service Transaction

D. Data Model Transformation

Correct Answer: D

QUESTION 2
Which of the following statements is false?

A. Widespread use of the Messaging Metadata pattern can be seen in the emergence of many WS-* extensions that
define industry standard SOAP header blocks that carry metadata.

B. Messaging frameworks and technologies need to provide support for the reading and writing of message headers or
properties in order to fully support the application of the Messaging Metadata pattern.

C. The Messaging Metadata pattern is not applicable to situations where the message sender and receiver need to
participate in stateful or conversational message exchanges.

D. The Messaging Metadata pattern can support the application of patterns such as Intermediate Routing by
supplementing messages with activity-specific metadata.

Correct Answer: C

QUESTION 3

Which of the following statements is true?

A. The overuse of service agents can lead to dependencies on proprietary vendor platforms.

B. The use of service agents is limited to the service architecture.

C. Service agents are common in orchestration environments but not within enterprise service bus environments.
D. None of these statements are true.

Correct Answer: A
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QUESTION 4

Assuming you have technical service contracts for SOAP-based Web services, you can apply the pattern through the
use of .

A. Schema Centralization, XML schemas

B. Message Metadata, SOAP message headers
C. Decoupled Contract, WSDL definitions

D. Policy Centralization, WS-Policy definitions

Correct Answer: ABCD

QUESTION 5

A service agent has a technical contract that allows it to be explicitly invoked by service consumer programs.
A. True

B. False

Correct Answer: B
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